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If the algebraic measure for 7
the displacement vector of a | ... i 1 Asial gyl Gulah ols 1Y

pedl) QB WE =W = b ABMally e

particle is given by the
relation: S = ¢ - 4t, then the
particle decelerated in the
interval

[0.2]

10,2]
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If the algebraic measure of the
velocity of a body is given by
the relation v=(10 — 2t ) cm/sec
then the covered distance Al P Lo ghiall ddlual) old
during the 3™ second only from — 435 a (e hED AENEN
its motion =

(G o (WY = V2 ) = & ils 1y
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A canon of mass 250 kg shots a o .
bullet of mass 10 kg with | S 48,38 glay aag Y0 . 45l adaa
velocity 100 m/sec .then the | . ol 3 %
reaction velocity of the canon Mg gl & [ 8 N vs Amgep it )e

6 et ghaal) 3 )

4 m/sec

0.4 m/sec

100 m/sec

10 m/sec
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A train of mass 300 tons ascends a
slope  whose inclination to the | Jaadljiade dmay Gh Yoo Adlis jUad

horizontal is with an angle of sine L %o @ e
1/240 and on the direction of the line hdoladl (b L Ayl (B o

of the g}'eatest slope; of the plan.e 1f Sl Ao acl] 1S 1IG S
the maximum velocity of the train is

30 m/sec and the force of its |axS&You. all cNisgdy & fa¥s
locomotive equals 3500 kg.wt .the
magnitude of the resistance 1is
directly proportiqnal with the. square = A glial) aa o de ) L
of the velocity .Find the magnitude of
resistance to the motion of the train | ¥+ 48 s & ok Ladie Ul LBy
when it moves with velocity 20 m/sec
,then find the maximum power of the
engine in horse.
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In a certain moment the momentum
of a body equals 112 kg.m/sec and
its kinetic energy equals 80 kg wt. Av adSya ABla ¢ &fa . aaS YN Y

m/sec then its velocity at thi & e 5 e
seC ,inen 1ts veloCcity a 15 Ae A4S g (ST u/?.. e-?-'* &
Sfa  veee = Aliall oda
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A body of mass 10 kg moves
in a straight line such that
a = (3t% — 8t )n where 7 is
the unit vector in the
direction of the motion .If the
norm of § is measured by
meter, ¢t 1is measured by
second, find the impulse after
3 seconds from the start of
the motion.
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If a body of mass 70 kg is placed
on floor of a lift ,then the pressure | dua )} AS a8 V. 4SS s aag b3

Baall A ) Lo bial gl seas

of the body on the floor of the lift
when the lift moves vertically
upwards with a uniform velocity

2 m/sec =...

70 kg.
70 kg.wt.

70 newton
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A body of mass 3 kg moves it ol . Yy
under the action of three SR aas asd & jady

forces Fy=2T+5),F,=al [~*0+~»Y= U Dy
foa_r}d F;=21+bj where ‘.\;r_|_.:,,.¢=;;
t and } are two perpendicular s

unit vectors in the plane of the QR f Y = VU

forces. If the displacement it o leas il o e
vector 1s given as a function on "y 3 _
time by the relation : s Y gl g g
S= P+ T+ (@P+3)] shen | O of M Gy LAF
determine the value of each of - %

a and b , calculate the work g o
done by the resultant of these ¢ POl e A (¥ TOY)
forces during 5 sec from the start 55l e ot Jadll taaal &

of the motion known that S is R i g D4 48 jadl
g @ pdl wdl gL We
¢ sl

Foa (V)= O A

measured in meter ,F in newton
and ¢t in second.
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A force F acts up on a body of
mass 500 gm ,if the body gains the
acceleration a = 61 + 87
where @ is measured in m/sec’
newton

9
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A body of mass (4t + 1)kg and
its position vector is given by
the relation 7 = (t2— 2t)e
where € is a constant unit
vector , t is measured in | -&SEL A Rl Adlie e o AT Saag
second,|| 7 || in meter. Find the |, . sl e A Bl A i)
magnitude of the force acts on
the body at t = 10 sec.
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If the power of a machine in | 4Bl Jees gl A1 5,08 cals 1y | -
watt is given by the relation
(8t-5) and the work done at
t=3sec equals 24 joule .then | Jadd ol clsa Y6 ogbon & ¥=w
the work done at t = 1 sec )
equals
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In the opposite
figure :

A smooth horizontal
plane, if the system
starts its motion

c.llc

<o 13 Galal 8 5 glinal)

from rest, then the acceleration of the OB O sSall fpe A8 jall Ae gaad)
system equals el gl §8 s
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T elade 5580 o il bud e

A body of mass 735 gmand a
spring balance of mass 140 gm in
which a body of mass 350 gm is
hanged on it are connected by a
light inelastic string passing over a
smooth small pulley fixed
vertically. if the system starts its
motion from rest.
Answer one of the following
questions:
1- Find the velocity of the
system after 3 sec from the
start of the motion.

2- Find the reading of the
spring balance in kg .wt.
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A hammer of mass 800 kg fell |[oe a5 Avr O A8 )l il
down from a height of 4.9 m s N ol Lwij S £.4 plis )
vertically on a foundation pole of
mass 320 kg to embed it vertically
in the ground for a distance 10 cm . e Vo Adlad ()Y
If the hammer and pole move as
one body directly after collision, | awally 48 addl i< Shd de pudl 2a 4
find their common velocity, then e w
find the ground  resistance ol g Al -

supposing it is constant in ton o B
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JalEalt JREN 8

In the following figure:

the plane and the pulley are

smooth. if this system moves from
rest , then the pressure on the pulley =

where T = 15 kg.wt.




Two smooth balls each of mass 0.2
kg move in one straight line on a
horizontal ground; the first with
velocity 4 m/sec and the second with
velocity 6 m/sec in the same direction
of the first. If the two balls collide.
Answer one of the following questions:

1- Identify the velocity of each
directly after collision given
that the impulse magnitude of
the second ball on the first is
equal to 10° dyne .sec

2- Determine the kinetic
energy loss due to collision
if the two balls move after
collision as one body.
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A body of mass 63 gm is placed on e ——— .
a rtough horizontal table and R pasn g g

connected by a horizontal light | 30—Ss Ao e ) Jads dasys 08

string passing over a smooth pulley By el F, o B il
fixed at the edge of the table and the o
other end of the string is connected | & Yo 4l aun Jadll JANE 3yl

by another body of mass 35 gm a § i Y1 b e YA e

distance of 2.8 m from the surface . el S s TR
of the ground. If the kinetic friction | ¥+ Spaliyall I Jalae IS 1Y
\

coefficient between the body and & . ‘ ‘
gt | T AN ot
the plane equals L | then find the ) Amandl StV gguioal g pued

3’ T .
velocity of the small body when it e o s pall A gy Jus
reaches the surface of the ground.
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If a body of mass 5 kg is
projected vertically with oY Ly aa€ 0 43€ a3 1Y
velocity 28 my/sec ,then its "
potential energy at the (
maximum height it can J s =4l oy p U (gl
reach =

70
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